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1. Spalding is a company that makes basketballs for professional b
rules state that a professional basketball must weigh 17.5 ounces
more than 2.5 grams away from the target weight. The scales at
close each basketball weighs to the target weight of 17.5 grams.

A positive number if the basketball weighs over 17.5 ounces

A negative number if the basketball weighs under 17.5 ounces

Zero if the basketball weighs exactly 17.5 ounces.

asketball teams. Current basketball
and will reject any basketballs that are
Spalding are calibrated to show how
The scale will display:

Which basketballs will be rejected by the scale? Use the number line below to demonstrate where
each basketball would be on the number line, Then select all that apply.

) () s o

A basketball with a scale reading of -2.4 ounces

A basketball with a scale reading of 1.6 ounces
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) ‘A basketball with a scale reading of -2.75 ounces
A basketball with a scale reading of 17.5 ounces
':\ A basketball with a scale reading of 3.55 ounces i ::j
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2. Frito Lay is the food company that produces; Mgot Cheetos. Frito Lay requires that each
large bag of Hot Cheetos should have a target weight of 11.9 ounces. A scale weighs each
bag of Hot Cheetos as they are made and rejects any bag that is 0.4 ounces away from the
target weight. The table below shows 5 different bags and how close to the target weight
they are. Use the table to answer the questions below. Put an A for Yes and B for No.
Bag 1 Bag 2 Bag3 Bag 4 Bag 5 j
0.60z less | 1oz more |0.40z more| -0.90z.less | Ooz.away 3
R~ R~ R R R A }
a. More bags of Hot Cheetos will be sold than rejected, because more bags are less than
0.5 ounces away from the target weight. ;’"’3 @)
b. More bags of Hot Cheetos will be rejected than sold, because more bags are more than
0.5 ounces away from the target weight. ‘&ifa‘j S
c. Bag 4 weighs exactly the target weight of 11.0 ounces. Q o
Bag 2 will be rejected, because it weighs 12.9 ounces, because you take the target
weight and add 1 ounce more to determine its total weight. ‘3’ €D
e. Graph and label each bag on the number line bfe,}kow.éemembei, 0 Tepresents the
l target weig‘ht se’t by Fritol Layl : (""’7' : ‘ ey
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